TR 1"7 '010 2,30 M12I0D .72

— DI7Y NDIDT7 RNYIZNY 237 RIONT RDIDY RO °N
Yes; the X1 and X290 is where there are 2°7Y and the Nnyo3» is
where there are no 2°7y

OVERVIEW
»aX explains the X072 in the following manner:
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X995 27 interpreted the XnN™72 in a case where (there were 0°7V [in all four cases] that
n°aw1 and) one witness said the exact opposite of what she said. The X3 asked
(according to 5") that we can derive cases #3 and #4 from cases #1 and #2.> mooin
explains why these questions do not apply to »2ax.

mooIn responds to an anticipated difficulty:
- 11919 PAVER RNYWNT ‘RO 297 NIIWN 759995 59 NNY 1N XN 7099 RY XNWN

Now (according to »2X) the X723 does not ask, ‘why is all this necessary’, as the
X3 asked on the explanation of 2''9, since now (according to *aX) all the cases

are necessary. nnon continues to explain the necessity of mentioning each case. The case of -
= IYOIN NINYIMN N DY NIINT 1199 11P¥NYN ANNV NN NNV N

‘I am 7797 and my friend is ax»w’ (#2), teaches us that since there are 2°7v

that n 2w, she is not believed regarding herself -
= IPYNYUN ANND 592N IN)

And the case of, ‘I and my friend are nx»w’ (#3) teaches us -
- Y931 NIIDN NNIAN RIINWNY BY1Y XYY XIYN NNIANN NI N9

That she is not believed regarding her friend in a case where there are no 2°7v
nawiw, and her friend is believed by her own statement that she is 770,

! mooin will later alter this that it is (also) in a case where 0Ty X2'X.
? According to X959 21 the An1an is AR
? In case #3 we know that she is X1 (since she admitted that she is %nv as in case #1). We know that 7in72n is
7w from case #2. In case #4 we know that she is 1XYW since D°7¥ XDX. We also know that 7717v 170720 (even
against an IR 7Y [since she is testifying that 77170 *n72n]) from case #1.
* See ‘Overview’ (and footnote #3.)
> We cannot derive #3 (that 7012 is 777V [even though she said 7%nv *n72m]) from either #2 (where 7XMY 7N72N
since D°7¥ X2°R), or from # 1 (since there 7n72n is 77170 because she said 777v °*nY2M).
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And the case of ‘I and my friend are 777%’ (#4), teaches us that even though

there are n°2wiw 27y, nonetheless she is believed regarding her friend [and we

cannot derive #4 from #1 as we asked according to 8"7] -
- 051y X997 PING NIIN NYUITT NYIYT

Because we can establish the X7 X@s9 (#1) in a case where there are no 2°7v
nawIw.

mooIn is not satisfied with this explanation:
- 'RDYISN 19990 OITY NXDPTTA INT NI PPN

And moon does not agree with this explanation for if #1 is in a case where X2°%
N awiw a7y, it is the same as the middle case (#3).

mooin offers an alternate explanation:
- 999N D7y NIINTA NON

Rather case #1 is where there are nawiw 2%7¥, and regarding the question® that

seemingly we know #4 from case #1 -
= HIANN NIINIT IIWINYNRY ROYD INN THIVYN DIPN D19

But nevertheless this X230 (#4) is necessary to teach us that she is believed
regarding her friend that she is 7170 -

NI 297 1999K 0991935 WINY 135 79 TAwa) NYDa NYT 23 YY N
And even though she did not disqualify herself (as in #1 where she said R "IX
771770 °n02m, but rather she said 7717Y °n72m °IX), so we should be concerned for

a9, the Xn°>1a therefore teaches us that nevertheless she is believed and we are
not concerned for o'

% Therefore, we cannot derive that she is believed in #4 (where there are nawiw 0°7v) from the fact that she is

believed for 7n7an in #1 (where there are no n°awiw o°7y). Therefore #4 is a W1T°n according to »aX. However,

according to 5" that all four cases are where n"2w1v 07y XI'X, the question stands that #4 teaches us nothing new in

addition to #1.

7 The question is that #1 is superfluous for if she said (#3) axnv *n72m she is not believed (2°7y X2°72) and 7n7an is

7w, then certainly if she says 77170 °nam (#1) surely 70720 is 7Y, [However mooin does not mean that #3 is

extra, for we cannot derive #3 from #1 (as explained in footnote #5.)] See “Thinking it over’.

¥ The same question that was asked on 5" (see footnote # 3) that we know from #1 where she says 79170 *n72m that

NIARI even 7Y RO°RT72, so what does # 4 teach us?

? In #1 it is understood that she is believed to say 7770 >n1an since she said 7xaY X so there is no ulterior motive;

however (in #4) where she says 77170 *n72m "X we should not believe her regarding nin72n since she has the ulterior

motive of 2%n1Y 1w .

19 3v9m (here) means that they are protecting each other. They each testify that the other is 77170 so that the other

will testify that she is also 7.

"' The difficulty with this answer (as stated immediately in the >"n [and in the X"w"7n]) is that if the X723 realized the
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[And this is the answer which the X7nx states later; because she did not invalidate
herself, and the X 13 could have asked now this question on X and answer it as N1501N
and the X713 both say. *""n]

SUMMARY
According to ™R (even the Jwpn understood that) all four cases of the Xn»11 are
necessary. The Xw°77 X7 is in a case where 0°7¥ XOX.

THINKING IT OVER

mooin asks that if #1 is in a case where 27y X2 then it is the same as #3."
Seemingly there would be the same difficulty if #1 is in a case where 277V X2>*X, for
then #1 is the same as #4."> We would seemingly resolve this question (on #1&#4)
by saying 7 A% 7 X?; not only is she believed in #1 (where there is no 2221 wWwn)
but even in #4 (where there is a 0°9m wwn). The same answer can apply here (on
#1&#3), not only is 770 7072 if she said 7737V *N12mM (#1) but An72M is 3
even if she said 7xnv *n72m (#3); what is N190n question?!'

wn of D27 1wen (in #4) according to *°aX, why ask on 9" (since the answer is the same)?! One possible
explanation may be that even after we know (according to »ax) that there is concern for o°n%, that is only when
there is no 7¥ who says the opposite, therefore since there are 12wiw 0’7y, she says 771770 *n72mM hoping the 01217 will
also say 77171 °n12m so they will both be 717v. However when there is an 7917 X"Y who says that you are both 0°Xnv
she thinks that her saying 7770 °n12m (and her 70720 saying 7M7Y *n12m) is meaningless since she thinks in her
mind that they will not be believed since (there are 12w1w o7y and) the X"V testifies that Wnw1, so there is no wwn of
27, Therefore the X3 explains that even by an 7571 X"V there is also the wwn of 2*%m (2"'nna ).
12 See footnote # 7. Ain1an is 7MY even if she says AXAY *N1am (#3) then certainly 7n7an is 7M7Y if she says °nam
an0 (#1).
" She is believed 7770 *N1am even when there is a 292 Wwn (#4), then she is surely believed to say 777w *n7an
when there is no o°on1 wwn (#1).
" See (M MX ow "ypa1 b MR "7 TRA) KW,
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